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Dim I,j as 4 tolg>
integer
Fori=1to 10

For j=1to 10

Print i*j y
Next j
Print

Next i .
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FORi=10TO1 STEP 2
PRINT |
NEXT
2T oo oy ()2 o) goidlael Q) skho (29 )SSTEP -2 1oisly 5155 (29,5 ile>
M=2+7\5-6/2 MOD 2 Sl plaSM lsiadn jShoc p3i5 4 4954 3 Jlgw A
0 Y (z Y(o 1 (<l
(0)ols= 3lg>
2uiS duwlonaly print 7.5 mod -7\-5/5.7 & )b Jool> 2 J1gw |
1 sae:0lg>
TS Olzg duwlal)) o o ¢ j1LaS29S Doxe (Slee pmde 45 3um 9 (5| 4ob ufOr NeXt gl oslizwll :Jlga Ve
For i=5 to 1000 step 5 $ilg>
Print |
Next | .
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Private sub command1_click( )
N=50 ~
If n=1 then <
R=sqr(n)
Else
R=sqr(2+(n-3) 4
Endif .
End sub
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Dim x as integer, Y as integers olg>
Input x
Do while X<>0
Y=X mod 10 4
Print Y;
X=X / 10 p
End
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x* -3
y =
X +2
y=(x"3-3)/(Sar(x) +2) ol
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Sum=0
For i=1 to 10
Sum = sum+in2
Print i

Next
Labell.caption="sum" + str (sum)




I=6
While (1>4)
J=6
I=I-1
Do while (J>3)
Print 1,J
J=J-1
Loop
Wend
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DIM A,F AS y tolg>
LONG g

DIM SUM,B AS INTEGER

A=INPUTBOX("INTER NUMBER")

F=A 4
SUM=0 s
WHILE F>0

B=F MOD 10

F=F \ 10

SUM=SUM+B

WEND

PRINT SUM
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DIM A,B,C AS INTEGER
A=INPUTBOX("INTER NUMBER")
B=INPUTBOX("INTER NUMBER")
C=INPUTBOX("INTER NUMBER")
IF AN2+BA2=C"2 OR AN2+CM2=B"2 OR B~"2+C"2=A"2 THEN
PRINT "IS TRUE"
ELSE
PRINT "IS FALSE"
ENDIF
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N=1
While i<5
Fori=1To 4
N=n+1
Next i
Wend
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Fori=1To

5

Forj=1to5
I=1

Next j

Print i*j
Next i
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Private Sub Cammand1_Click ()
Dim S as string

Dim Num as integer

S=Input box (“type your name”)
Num=Len(S)

Print Num

End Sub
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Select case K
Case is > 10 : print K*2
Case is <=3 : print K*10
Case 16 : print (K+5)
End Select
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X=val(textl.text)
While X>0

Print x

Wend
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Private sub

cmdshow_click()

For |1 =20 to 10 step -2
Print ;

Next |

End sub
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private sub commandd1_click()
dim | as single
sum=0

tole>




n=val(text1)
fori=1ton
x=inputbox ("add ra vared konid")
listl.additem x
sum =sum+x
next i
text2=sum/n
end sub

private sub commandd2_click()
end
end sub
private sub form_load()
labell.caption="teadad doros"
label2.caption="moadel"
label3.caption="list nomarat"
text1=""
text2=""
command1l.caption="run"
commandl.caption="exit" $
end sub
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private sub commandd1_click()
let saat = val(text1)\3600
let dagheghe =val(text1) mod 3600)\60
let sanye=(val(text1) mod 3600) mod 60 4
end sub

private sub commandd2_click()
end
end sub
private sub form_load()
text1=""
labell.caption=" add vared koned"
commandl.caption="run"
commandl.caption="exit" ¢
end sub
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Private Sub Command1_Click()
Cls
n = InputBox("Inter Natural number n")
i=1
Fori=1Ton
If n Mod i =0 Then Print i
Next i
End Sub
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a =Val (InputBox ("A="))

b =Val (InputBox ("B=")) Y| o
¢ =Val (InputBox ("C="))

d=b"2-4*a*c

If d>=0 Then Y|
x1= (-b + Sqr (d)) / (2*a)

a|b d | bod | x1|x2 A
) d>-+ | Y | ¥V | x1=35 x2=2
Y| ¥ vl d= oY oY [x1=-2 5 x2=-2
N4 d<e - | - | Rishah Nadarad...

x2 = (-b - Sqr (d)) / (2*a)

Forml.Print "x1=";x1,"x2=";x2
Else

Form1.Print "Rishah Nadarad..."
End If
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Private Sub Command1_Click()

Dim | as Integer

FOR 1=14 TO99 STEP 7
PRINT I,

NEXT |

End Sub
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